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Direction : Answer the following questions | fifFr : 3% Ser fidm w3 Sioa e
by selecting the correct option. TE 7S |

1. Binomial nomenclature was first 1. faom S9Faq AT (@ V@ A =,

published in the book cifta =g

(A) Genera Plantarum (A) CSTRT 2TBIE

(B) Systema Naturae (B) Fibar (ﬂ‘?ﬁ?

(C) Genera Animalium (C) ce=r SmAwem
(D) None of the above (D) Toczm @FFTE

2. Phylogenetic system of classification
was proposed by

2. wifeERTe RN % o7d vz

(A) Bentham and Hooker (A) @EF e IR
(B) Theophrastus (B) fRezmim
(C) Hutchinson (C) TfPm

(D) None of them (D) 7 T3 7

3. Which one of the following does not 3. e @M ke e 32w

carry nucleic acid? FE 2

(A) Viroid ‘ (A) SRS

(B) Mycoplasma (B) Ticprarel

(C) Prion (C) &m=

(D) None of the above (D) Toiam bR

4. Viruses possess the following 4. I FRFERe IrmfesR / aemfe

chemicals/chemical TEYH

(A) nucleic acid and protein (A) Fieks =mPe ¢ e

(B) DNA only (B) ®{I1@ DNA

(C) RNA only (C) WY@ RNA

(D) None of the above (D) Ttz @F:
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. The largest herbarium in India is

located at

(A) National Botanical Garden,
Lucknow

(B) Indian Botanical Garden,

Sibpur

(C) Lloyd Botanieal Garden,
Darjeeling
(D) None of the above

. The chemical substance present

in the cell wall of gram-positive
bacteria only is :

(A) teichoic acd
(B) peptidogiycan
(C) lLipopolysaccharides

(D) None of the above

. Clamp connection is found in which

of the following classes of fungi?
(A) Zygomycetes

(B) Ascomycetes

(C) Basidiomycetes

(D) None of the above

. Which of the following is an algal

parasite?

(A) Porphyra
(B) Cephaleurcs
(C) Ulothrix

(D) None of the above

. SREER YRR TR REs Wk

(A) TTPEE QA SITEH, AT~
(B) Tum @i e, FreE-a
(C) =TcTe @I sneéa, wfEfr-9

(D) Trieaa @R W

. @2 AT e ey a-oféite

(a) oz wmhe
(B) cofbroiaiza
(©) Prnfriemrize
(D) Toaa @R W

. #Ie e e @M iR wane

7] T 2

(A) wResTRFIG
(B) SUPTCRIRFIH
(C) APFfSeTRHH
(D) o3 LR T

. PR trmgtr g @b oRER 2
(A) =TT

(B) CrRIEEPT

(C) 2eeamiar

(D) ToFR PR T




9.

10.

11.

12.
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The function of peristome teeth of
moss is

(A) photosynthesis
(B) spore dispersal
(C) absorption

(D) None of the above

Leaf of a gymnosperm carries 18
chromosomes. What would be the
number of chromosomes in its
endosperm?

(A) 9

(B) 18

(C) 27

(D) None of the above

Which of the following structures
is found only in angiosperm?

(A) Tracheid
(B) Sieve cell
(C) Companion cell

(D) None of the above

Water vascular system is found in
(A) Arthropoda
(B) Echinodermata

(C) Mollusca

(D) None of the above

9.

10-

11.

12.

TR RGN W3 I 2
(A) TR

(B) @9 ==

(C) come

(D) Toitan @EGE T

a3t R SR orer @
(FETEN 0 181 Sfeuda *rieam
CFICAICHT 2L 7S ?

(A) 9

(B) 18

(C) 27

(D) Toaa @EE T

e soaehn o @R @
fge=onef v I’ 2

(A) Tn¥re
(B) s @M
(C) > @M

(D) TR @R T

1 IR0 (I o[ DCS v I 2
(A) wEfears

(B) «rRzreraor

(C)

(D) Toza @2 W




13.

14.

15.

16.

Polyp stage is absent or reduced in
(A) Aurelia

(B) Obelia

(C) Physalia

(D) None of the above

Excretory organ in herﬁichordata is
(A) proboscis gland

(B) flame cells

(C) nephridia

(D) None of the above

Cladode is a modified
(A) root
(B) leaf
(C) stem

(D) None of the above

Capitulum inflorescence occurs in
which of the following families?

(A) Mimosae
(B) Asteraceae
(C) Rosaceae

(D) None of the above

13.

14,

15.

16.

faERe e afies A v s
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(B) SRy
(C) =R
(D) TR @R T
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(A) CATAPP 2T

(B) GFY I
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(D) TR @LE T

wcere z5 g “fvafEs
(A) =
(B) el
(C) Fa

(D) TR (IR W
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(A) IR
(B) @S
(C) cmsH
(D) TR bR




17.

18.

19.

20.
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Ovary is inferior when the flower is
(A) hypogynous

(B) epigynous

(C) pcrig;ynous

(D) None of the above

Fruit of which of the following
plants is not a drupe?

(A) Mango
(B) Coconut
(C) Guava

(D) None of the above

The floral formula of Solanaceae is

(A) ® §K(5Cs5A(5 Gy

(B) ® K5 C(s) As G3
(©) ® §K(5C(5)As5 Gg)

(D) None of the above

Petiole increases in length due to
division of

(A) lateral meristem
(B) apical meristem
(C) intercalary meristem

(D) None of the above

17.
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21.

22.

23.

24,

In higher plants, vascular tissue
develops from

(A) procambium
(B) promeristem
(C) protoderm

(D) None of the above

Protoxylem in stem is which of the
following types?

(A) Exarch
(B) Endarch
(C) Mesarch

(D) None of the above

A growth ring in plants consists of
(A) early wood

(B) late wood

(C) spring wood and autumn wood

(D) None of the above

The type of epithelium which forms
the inner wall of blood vessels is

(A) columnar epithelium
(B) squamous epithelium
(C) cuboidal epithelium

(D) None of the above

21.
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25. The main protein of connective 25. AT FAR A4 2o =&

tissue is

(A) collagen ety S e

(B) keratin (B) @M

(C) myosin (C) TP

(D) None of the above (D) Toaq @=IbE w1

26. The contractile unit of striated | 26. IRF @ T ALFO GFIP I =

muscle is

(A) sarcomere (A) AR

(B) z-band (B) z-qm®

(C) myofibril (©) AR

(D) None of the above (D) T TR W

27. The number of heart chambers in 27. HRTIEE TefPiea Ay iR 59
cockroach is

A) 11 35
(B) 12 )48
() 13 (C).-13
(D) None of the above (D) Toica bR

28. How many pairs of spiracles are | 28 WRCIFR F© (&I =iZAF G4 TW2
found in cockroach?

@) 8 & %
B) 10 (B) 10
(C) 2 (C) 2
(D) None of the above (D) TR @S W
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29.

30.

31.

32.

Gonapophyses in cockroach are
made up of the chemical

(A) keratin

(B) lipopolysaccharide

(C) chitin

(D) None of the above

The number of thoracic and
abdominal ganglia in cockroach
respectively are

(A) 3 and 6

(B) 6 and 3

(C) 3 and 3

(D) None of the above

The potential of a plant cell to

develop into a full plant is called
(A) totipotency

(B) pluripotency

(C) unipotency

(D) None of the above

Distinction of prokaryotes
eukaryotes is mainly related to

and

(A) nucleus
(B) nucleic acid
(C) plasma membrane

(D) None of the above

29. TRCIER GIERERPPst @ wmfhe

30.

31.

fica fafife o
(A) Ao

" (B) Prenvfrmerize

() =rfbw (fBiow)
(D) Tosa FFE W

WRCTAR I 8 T wmafkm e
TG

(A) 3 <R 6
(B) 6 <% 3
(C) 3«aR3

(D) Soam @R &

@3 TR @ (e T TR Seem
2SR TAOD A
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(C) TfARTR
(D) TR PR T
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(C) elre M

(D) TR (@R T




33.

34.

35.

36.

/21

The fluid mosaic model of cell
membrane was proposed by

(A) Singer and Branton
(B) Dannielli and Schmitt
(C) Singer and Nicholson

(D) None of them

The function of rough endoplasmic
reticulum is

(A) starch synthesis
(B) protein synthesis
(C) fat synthesis

(D) None of the above

Membrane covering the vacuole of
a plant cell is called

(A) tonoplast
(B) tonoplasm
(C) cell membrane

(D) None of the above

Enzymes present in lysosome are
(A) lyases

(B) ligases

(C) acid hydrolases

(D) None of the above

10
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37.

38.

39.

Chitin is a

(A) lipoprotein

(B) polysaccharide

(C) nitrogenous polysaccharide

(D) None of the above

Chemically nucleoside is
(A) nitrogenous base + phosphate
(B) nitrogenous base + sugar

(C) nitrogenous base + phosphate
+ sugar

(D) None of the above

Which one is the sweetest sugar?
(A) Fructose
(B) Glucose
(C) Sucrose

(D) None of the above

The inactive protein part of enzyme
combines with a nonprotein
prosthetic group to form active

(A) apoenzyme

(B) holoenzyme

(C) coenzyme

(D) None of the above

37.

38.

39.
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41.

42,

43.
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The phase of cell cycle in which
replication of DNA takes place is

A) Gy
(B) Go
(€) s

(D) None of the above

In mitosis, nuclear envelope and
nucleolus disappear during

(A) prophase
(B) metaphase
(C) anaphase

(D) None of the above

During meiotic cell division
(A) linkage is disturbed

(B) homologous chromosomes are
separated

(C) homologous chromosomes do
not separate

(D) None of the above

Which of the following characters
is related with telophase?

(A) Formation of nucleolus
(B) Formation of nuclear membrane

(C) Formation of two daughter
nuclei

(D) None of the above

41.
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43.
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45.

47.

The pathway of movement of water
through cell wall is called

(A) symplast pathway
(B) apoplast pathway
(C) plasmodesmata pathway

(D) None of the above

Osmotic pressure of a solution is
(A) greater than pure solvent
(B) less than pure solvent

(C) equal to pure solvent

(D) None of the above

Water potential of pure water at
standard temperature is

Which one of the following is not
an essential element?

(A) Tron
(B) Zanc

(C) lodine

(D) None of the above

45. @M b 0 fim weR e

46.

47.

A
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(C) PITSTATEAB
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49.

50.

51.

52.
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The most abundant element present
in plants is

(A) nitrogen
(B) carbon
(C) oxygen
(D) None of the above

During nitrification which bacteria
converts ammonia to nitrate?

(A) Nitrobactor
(B) Pseudomonas
(C) Nitrosomonas

(D) None of the above

C4-plants have higher net photo-
synthetic rate, because

(A) they have no or least photo-
respiration

(B) they have Kranz’ leaf anatomy
where RuBisCo functions as
oxygenase

(C) they have PEP as CO, acceptor

(D) None of the above

Calvin cycle is

(A) oxidative carboxylation

(B) reductive carboxylation

(C) decarboxylation

(D) None of the above

14
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53.

54.

Electron acceptor of PS II is
(A) ferredoxin

(B) cytochrome-b

(C) plastoquinone

(D) None of the above

In Krebs cycle, acetyl CoA forms
6-carbon compound after combining
with

(A) malic acid

(B) citric acid

(C) oxaloacetic acid

(D) None of the above

Respiratory quotient (RQ) of
sprouting potato tuber will be

(A) O
(B) 1
©) >1

(D) None of the above

In which of the following processes
direct use of oxygen is made?

(A) Electron transport system
(B) Glycolysis

(C) Krebs cycle

(D) None of the above

S3.
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57.

58.

59.

60.

Which hormone is maximum in
coconut milk?

(A) Auxin
(B) Gibberellin
(C) Cytokinin

(D) None of the above

Avena curvature test is the bioassay
for which hormone?

(A) Gibberellin
(B) Auxin
(C) Cytokinin

(D) None of the above

Which one of the following is a day-
neutral plant?

(A) Beta vulgaris
(B) Avena sativa
(C) Helianthus annuus

(D) None of the above

The term ‘vernalization’ was coined
by

(A) Lysenko
(B) Melchers

(C) Gregory

(D) None 6f the above

57. wIRCFA Y04 (I ZACEMD FRCEE @ 2

58,

59.

60
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61.

62.

63.

64.

Who coined the term ‘itamin™?
(A) Calvin

(B) C. Funk

(C) A. Vesalius

(D) None of them

Valves of Kerkring (Plicae circulares)
are found in between

(A) right auricle and right ventricle
(B) left auricle and left ventricle
(C) stomach and duodenum

(D) None of the above

A person is passing grey white faecal
mater. What is not functioning in
the body?

(A) Liver

(B) Kidney

(C) Spleen

(D) None of the above

PEM classification can be
(A) IAP and WHO classification

(B) Gomez
classification

and Waterlow

(C) All of the above

(D) None of the above
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65.

66.

67.

68.
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Which of the following is termed
as ‘pneumoconiosis™

(A) Restrictive lung disorder
(B) Obstructive lung disorder
(C) Occupational lung disorder

(D) None of the above

What is the location of troponin in
actin filament?

(A) Attached to tropomyosin
(B) Attached to myosin cross-bridge
(C) Both of the above

(D) None of the above

Renin is released from

(A) juxtaglomerular apparatus
(B) cortical nephron

(C) collecting ducts

(D) None of the above

Hematuria is caused due to
(A) urinary tract infection
(B) stone in kidney, bladder
(C) Both of the above

(D) None of the above
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69.

71.

During pregnancy which of the
following is secreted through the
urine of mother?

(A) Progesterone
(B) Luteinizing hormone ‘

(C) Chorionic gonadotropin

(D) None of the above

The difference between systolic
pressure and diastolic pressure is
called

(A) blood pressure

~ (B) pulse pressure

(C) pulse rate

(D) None of the above

Which of the following is devoid of
blood supply? .

(A) Cornea
(B) Choroid
(C) Retina

(D) None of the above

72. The hormone which regulates the

calcium level of blood is called

(A) glucagon
(B) parathormone

(C) thyroxine
(D) None of the above

69.

71.

72.

TERER W WA WA @D Fre
=2

(A) CATHPOI

(B) feeibifr zwwm
(C) FRsfF cmICeEPm
(D) T @R W

Fobifee B9 8 SRR SR “NLIT
Eic|

(A) FTE (TR
(B) &P (2P
(C) #ePi &H

(D) ®ocaa @WbE @

RS @mibee wer @M ¢’ 2
(A) R

(B) IS

(C) cafba

(D) T @l .

@ TED WS FEPECR @ g
IR A
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74.

75.

76.
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Innominate bone is formed by fusion
of how many bones?

(A) Five
(B) Four

(C) Three

(D) None of the above

In cardiac cycle, the first event is
(A) atrial diastole

(B) atrial systole

(C) ventricular systole

(D) None of the above

Glucose-6-phosphate dehydrogenase
deficiency is associated with
haemolysis of

(A) leucocyte

(B) erythrocyte

(C) lymphocyte

(D) None of the above

Minimum concentration of
nitrogenous waste is seen in

(A) renal artery
(B) renal vein
(C) hepatic vein

(D) None of the above
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74‘

75.

IR wiE b wiFm s e 2
(A) i
(B) @
() o

(D) TAA @MbE T

ZIHCEA 22N oA 24
(A) = SRTHE
(B) wiferw Bicbre
(C) fem Frobvm

(D) Torza @FMibE W

76. FARETE-9US AHR KW Y o= AW

(A) 39 ACS
(B) 38 Prm
(C) TF© Frm

(D) Toeaa DR 7



77. Leaf as a means of vegetative | 77. FufiRe @Fice “ror s e
reproduction is found in S (41 M ?
(A) Aloe (A) wmIZer
(B) Begonia (B) Rearsrn
(C) Bryophyllum (C) AP

] Y
!‘ (D) None of the above (D) Toraa @b T
l

78. Flagellated motile spores are called 78. FREATE 65 (APTF T4 =/

(A) aplanospore (A) SRATCATTR
(B) zoospore | (B) TR

(C) oospore (©) Treom

(D) None of the above (D) ®ortm @mibe T

79. Heterosporous plants originated first 79. W‘lﬁ‘lw ey Teom W

!
5 in
| (A) CGRTemEREm
! (A) pteridophytes
(B) I=anE fecw
(B) gymnosperms
(C) A& Tferw

(C) angiosperms

(D) SRR IR T
(D) None of the above’

80. MICNCOECAPTT ZCR b Yol T (7l

80. Gametogenesis is an event of RiL
(A) pre-fertilization stage A) Fee-o728 v
(B) fertilization stage (B) fAcss v
(C) post-fertilization stage (C) Fcss-2=a v
(D) None of the above (D) ®oica @D T
/21 21 [ P.T.O.




81.

82.

83.

84.
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Sexual reproduction in flowering
plants was discovered by

(A) Nawaschin
(B) Strasburger
(C) Camerarius

(D) None of them

The fusion product of polar nuclei
and male gamete is

(A) secondary nucleus
(B) primary endosperm nucleus

(C) zygote

(D) None of the above

In which part of human sperm,
mitochondria are present?

(A) Head
(B) Tail
(C) Middle piece

(D) None of the above

When released from ovary, human
egg contains

(A) only Y chromosome
(B) two X chromosome
(C) only X chromosome

(D) None of the above
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84,

o SfecT (e S RER I
(A) m;wﬁa

(B) SHPRITE

(C) AR

(D) 9T (PR

o FeRErEn @32 e-emeRed Re
Teom =

(A) e fretEam

(B) =¥ *py e
(C) wf2esmo

(D) Sotzm (FIbE

TR SHFR @R W TR
=2

(A) TEF
(B) o1&
(C) TwHe

(D) ®oER @R T

arm i fofe zea@ s I®
e A

(A) WY Y CIFICICES
(B) i X (HFCACEN
(C) WYNIA X (FITACHT

(D) TR @WOE T



85. Menstrual cycle is effected by 85. TWOF eIde W

(A) LH only (A) WY LH 931
(B) LH/FSH + estrogen (B) LH/FSH + 04ICE 2@l
@ > g (C) Sy THTEA ARl

(D) None of the above D) ot -

86. When blastocoel is formed in it,

the embryo is called 86. = I ACHPA (SR T O G A
(A) blastula (A) APLE

(B) gastrula (B) suPgE

(C) morula (©) T

(D) None of the above (D) B R W

87. In India the Family Planning
Programme was launched in the

87. SRS AR “fRewm O vF |

5 (A) 1951 C#
(A) 1951 S i
IZ: i:: (C) 1953 3t#
(D) TR @FDR T

(D) None of the above

88. In India, common STD is 88. SRSIHI w3 FAYRY STD Z&

(A) syphilis (&) PR
(B) herpes (B) TPH
(C) gonorrhoea (C) sicnfamn

(D) None of the above (D) ToAR FMLE T




89.

90.

91.

92.
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Most infertility problems are due to
(A) inadequate sperm production
(B) failure of ovulation
(C) Both of the above

(D) None of the above

When the phenotype and genotype
ratio are same in Fy-generation, it is
an example of

(A) incomplete dominance

(B) linkage

(C) dominance

(D) None of the above

Polygenic inheritance was first

studied by
(A) Davenport
(B) Kolreutor
(C) Mendel

(D) None of them

Which of the following genotypes
represents a true hybrid condition?

(A) Tt Rr
(B) Tt rr

(C) Tt RR

(D) None of the above
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91.

92.

QPR eI5 TS TP

(A) ToRf1e WY SeATCTI FIRC
(B) Tesfssmee srwaor IR
(C) Toresm 62

(D) TR @bE T

Fo-See® I3 (FCbRA ¢ feabizgem
TS @R TN W, o4 G Rew
THIZAY ?

(A) SO 2/Fbe]

(B) e

(C) 2ol

(D) TR @bE

“ffeifee LIS eiw o =
(A) CeTSTCD

(B) FeROH

(C) e

(D) TR FTE T

FafeilRe oF bz ot s Ffe
% ot IR 2

(A) Tt Rr
(B) Tt rr
(C) Tt RR

(D) ToicaR @R



. Pleiotropic effect is found in
(A) night blindness

(B) human skin colour

(C) sickie cell anaemia

(D) None of the above

. How many types of gamete are
found in F, progeny of a cross
between genotype AA BB CC and

aa bb cc?

A) 4

(B) 8

(C) 16

(D) None of the above

. Turner’s syndrome is due to
.(A) monosomic chromosome
(B) trisomic chromosome
(C) polysomic chromosome

(D) None of the above

- Mutations are usually of
(A) incomplete nature
(B) dominant nature

(C) recessive nature

(D) None of the above

. DNA molecule
diameter of

(A) 20 A
B) 84 A
© 274A

(D) None of the above

has a uniform
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93. felPe w3 o Im

94,

95.

96.

7.

(A) TSI AT

(B) sy v el
(©) Fiez= o smffm
(D) Toreaw A2 T

AABBCC @3 aabbcc feaiizrem

T T IAMA Fy WS I Y S0
e TR 2

A 4
(B) 8
(C) 16
(D) TR @R

e firgm w0

(A) QRATEIRT @EFRACEN-97 IR
(B) Grwf® c@racEs- 9 IR
(C) “feTefie (FTaTEN- I
(D) ®oiiaR (FMHE W

*RE MaRere

(&) Py argfen

(B) 235 erpfew

(C) emem eigfen

(D) Totzq b3 W

DNA ©F (RRIRFSA oW AR
MERIES

(A) 20 A
(B) 84 A
(C) 27 A
(D) Toam R T

[ P.T.O.



98.

99.

100.

101.

102.
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That DNA is a genetic material was
proved conclusively by

(A) Alfred Griffith
(B) Hershey and Chase
(C) J. D. Watson
(D) None of them

UAA, UAG and UGA are
(A) nonoverlapping codon
(B) nonsense codon

(C) degenerate codon

(D) None of the above

In operon model, regulator gene
functions as

(A) inhibitor
(B) regulator
(C) repressor

(D) None of the above

Which one of the following is the
important event in origin of life?

(A) Formation of nucleoproteins
(B) Formation of NHj
(C) Formation of CH,4
(D) None of the above

The main weakness of Darwin’s
theory was his failure to give
satisfactory explanation of

(A)
(B)
©
(D)

variation
survival for fittest
struggle for existence

None of the above
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99.

100.

101.

102.

DNA @ (Etiod 32 o ftswme o
IR

(A) SEEFs TS
(B) THCT R (B3
(€) = f¥. satom
(D) TR FTE T

UAA, UAG 938 UGA =4
(A) TS TS
(B) @ Pl

(C) Zuzoife® Hraefeis
(D) TozER (@R W

SR TCOTH (RQTEADA o I I3
(A) 2R T

(B) @wweva o

(©) feerm R

(D) ToRA @WbE W

fafeRe @mb &er Sefen v
G BTy o 2

(a) FEReranem o=

(B) NH3-43 554

(C) CH4-9R 5o

(D) TR (IR T

TR Orgd Ay wderel = oA
RS A TS SofRe =

(A) CS%-<R

(B) oIS Trada-q

(C) SRCTA &= AN -7

(D) TR (PR T



103. Ewvolutionary history of an organism

104.

105.

106.

is called

(A) ontogeny
(B) ancestry
(C) phylogeny

(D) None of the above

Genetic drift is also called
(A) Founder effect
(B) Sewall Wright effect

(C) Bottleneck effect

(D) None of the above

The first prehistoric man who used
fire for cooking food and defence is

(A) Cro-Magnon man
(B) Java Ape man
(C) Peking man

(D) None of them

Vascular cryptogames originated in
earth during the

{A) Upper Silurian period
(B) Lower Devonian period
(C) Carboniferous period

(D) None of the above

103. 93 I 3R wfeAfEn Fezrns =

104.

105.

=
(A) STHTEN
(B) SIFCPR
(C) FETeTEA
(D) Toca IR W

ceo fghes fFafAie weae <=1 =
(A) TFEBR GF2

(B) Preur A0 «rFs

(C) e a3

(D) TR @bR W

AR (@ ANEPE TR AR_R A T
& HYITR T NG IIZR FA(RHA 2

(A) CFI-TMo TR
(B) &TS! 99 W=
(C) fafR T

(D) 9T (FTE 7

106. T FAYS WTF Tiew fRwe Tew
ZafeE

(A) SR STRFRAR FCA
(B) IR CSCSIfam F1ea
(C) FAfTEFarT FICA
(D) ToTa IR W

[ P.T.O.




107. World Health Day is celebrated on

108.

109.

110.

/21

(A) 6th May
(B) 7th May
(C) 7th April

(D) None of the above

Ringworm is caused by
(A) Trichophyton rubrum
(B) Microsporum canis
(C) Both of the above

(D) None of the above

Antibodies in
a complex

our body

(A) glycoprotein
(B) lipoprotein
(C) carbohydrate

(D) None of the above

Interferons inhibit infection of
(A) bacteria
(B) viruses
(C) Protozoa

(D) None of the above
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107. 3 i TEe =

108.

109.

110. TOREI (FFLI AFINS A4 O ?

A) 63T
B) 72
(C) 7% «fe@

(D) TR @MvE T

W el R =

(A) DrEcrRba =
(B) FIRCHFIC=NAN (T 7R
(©) o bR

(D) Ttz @bE

AN (TR SIS 43 Wb
(A) szt

(B) Fremcenoa

(C) ==

(D) o @R T

(A) IfBRWm
(B) Sizami
(C) CAATBITSRAT

(D) o @ T



111. When the body starts rejecting its
own cell, it is called

(A) immunodeficiency
(B) immunosuppression
(C) autoimmunity

(D) None of the above

Sarcoma is a cancer of which
tissue?

(A) Epithelial tissue
(B) Mesodermal tissue
(C) Endodermal tissue

(D) None of the above

Which drug is called superman?
(A) Amphetamine

(B) Heroin

(C) LSD

(D) None of the above

114. The virus causing AIDS is called

(4) HIV

B) HI'L/V,’-S
{C)} Both of the above

D) Neone of the above
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111. I3 "R OR e @Pes denaw 3,
O O A

(A) fRCraeRtat
(B) RTcamies™
(C) woRACRD

(D) TorR @R W

112, RPN (@ AR (@A IR 2
(A) wferfEmrE F=
(B) oTorE FH
(C) «Terenfie Fal
(D) oI PR

113. @ oI FARE <@ 20 2
(A) SOTCEOIRA

(B) AR
(C) LSD

(D) T @DE W

114. @3 (AIDS) IR SZIPT ZA
(A) HIV
(B) HTLV-3
(C) Torema oz

(D) ¥oam @R T
[ P.T.O.




. 115.

116.

117.

118.
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Which one of the following is exotic
variety of honeybee?

(A) Apis dorsata

(B) Apis mellifera

(C) Apis florae

(D) None of the above

Bread wheat (Triticum aestivum)

originates through the cross
between

(A) Triticum monococcum and

Aegilops speltoides

(B) Triticum turgidum and Aegilops

squarrosa

(C) Triticum dicoccum and Aegilops

speltoides

(D) None of the above

Ranikhet disease in poultry is a
(A) viral disease

(B) bacterial disease

(C) fungal disease

(D) None of the above

Citric acid
microbe

is produced by the

(A) Rhizopus nigricans
(B) Aspergillus flavum
(C) Aspergillus niger

(D) None of the above
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(©) < @rifd
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119. Which of the following are included

120.

121.

in biopesticide?

(A) Virus, bacteria

(B) Virus, bacteria, fungi

(C) Virus, bacteria, fungi, protozoa

(D) None of the above

Azolla is wused as Dbiofertilizer,
because it contains

(A) Rhizobium
(B) Cyanobacteria
(C) Mycorrhiza

(D) None of the above

The first recombinant DNA was
constructed by

(A) Stanley Cohen and Herbert
Boyer

(B) Boliver and Rodriguez

(C) Collins and Hohn

(D) None of them

Which of the following is mnot

a cloning vector?
{A) Cosmid

(B) Yeast Artificial Chromosome
(YAC)

(C) Prion

(D) None of the above

119. FafiRe @R IR B ?

120.

121.

122.

(&) sizapy, w3

(B) ©izam, I, ware

(C) SRaPi, IR, w@rF, canchesm
(D) Torza IR

2l RPFATTS DNA 199 3
(&) S e 93 2R TR
(B) TR W3R TeRCorE

(C) T o= =

(D) TR (T T

ﬁ'ﬂﬁﬁ@mﬂﬁmﬁ{c@ﬁm?
(A) TS
(B) %8 FaW cFATE™ (YAC)
(C) &+

(D) Toa @E T
[ P.T.O.




123.

124,

125.

126.
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The first step in genetic engineering
is

(A) isolation of protein
(B)

isolation of genetic material

(C) cutting of DNA at

location

specific

(D) None of the above

Enzyme that is generally used in
PCR technology is i

(A) polymerase
(B) tag polymerase
(C) RNA polymerase

(D) None of the above

Restriction endonucleases used in
recombinant DNA technology is
obtained from

(A) bacterial cells

(B) bacteriophage

(C) plasmids

(D) None of the above

First genetically modified plant
commercially released in India is

(A) golden rice
(B) Bt brinjal
(C) Bt cotton

(D) None of the above
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cecebe 2fefie sl auw o =
(A) cafod PR

(B) fomm sudeaa

(C) fAff® ¥ DNA 3+

(D) Torcaa (IR W

PCR of&rs Termwsfs yRT® I7=IA
=, ¢ 2=

(A) “femEas
(B) U@ ifericas
(C) RNA *ffeamas

(D) Totam (FFbE

fRefieTc DNA eRfete @ @fiem
GETCHRTE IRTS W, G 1S |

(A) IEfRM @M (AT
(B) BT Wz
(C) #riive e
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126. e AW @ fom fRls  omeh
TR wel =, © =
(A) CTHIR 4=
(B) Bt R%A
(C) Bt g
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127.

128.

129.

130.

The new strain of Dbacteria
produced by biotechnology for
alcohol industry is

(A) Bacillus subtilis

(B) Escherichia coli

(C) Pseudomonas putida

(D) None of the above

Human insulin is commercially
produced from a transgenic species
of

(A) Mycobacterium

(B) Bacillus

(C) Escherichia

(D) None of the above

The enzyme extracted from the
stomach of calf and used in cheese
making is
(A) lactase
(B) rennin

(C) cheecin

(D) None of the above

Which, of the following is commonly
used in transferring of foreign DNA
into crop plants?

(A) Trichoderma harzianum

(B) Agrobacterium tumefacience

(C) Penicillium expansum

(D) None of the above
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130.

R e W wpeRE Pew
IR & ABRAR @ 7T GFd Cof
A MR, ©

(A) BT AR
(B) PO PR
(C) e yfoer
(D) BeAm PR W

@ A IeeERe gl (@
AffErreRa Y Tfem (R I =

(A) FRCFIRRAY
(B) TR

(C) wEorf

(D) Socam @fbE
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IR B Cefice 9T I W

(A) =ES
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131.

132.

133.

134.
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The reagent used in ELISA test is
(A) ligase

(B) polymerase

(C) peroxidase

(D) None of the above

Natural genetic engineer is

(A) Agrobacterium tumefacience
(B) Escherichia coli

(C) Pseudomonas sp.

(D) None of the above

Which of the following is used in
biowar?

(A) Pathogen
(B) Toxin from pathogen
(C) Both of the above

(D) None of the above

First clinical gene therapy was given
in the year

(A) 1989
(B) 1990

(C) 1991

(D) None of the above
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1“.

137.

138.

/21

135. Ssmecology is the study of

to

“

community in  relation
=owvironmental effect

{2 biosphere

environment

&

(D) None of the above

Individuals of one kind (species)
occupying a particular geographical
area are called

(A) population
(B) community
(C) ecotone

(D) None of the above

Climax community is

(A) unstable community
(B) first stable community
(C) last stable community

(D) None of the above

Primary succession on rocks starts
with

{A) herbs
(B) lichens
(C) shrubs

(D) None of the above
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139.

140.

141.

Plants growing on cold soil are called
(A) sciophyte

(B) psychrophyte

(C) oxylophyte

(D) None of the above

Ecological pyramids are of
(A) two types

(B) three types

(C) four types

(D) None of the above

The species which are in danger of
extinction are called

(A) wvulnerable species
(B) threatened species
(C) endangered species

(D) None of the above

142. World Biodiversity Day is on

/21

(A) December, 29
(B) December, 19
(C) September, 29

(D) None of the above
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(D) ToAR @R T

IFrpIEFee e ==
(A) R 2R
(B) f&= o
(C) 1R 2P

(D) Toa @R T

@ e oEfe Ry z2euR Reieam
A, I A

(A) e aEfs
(B) TEHANS S
(©) Rem er=ifs

(D) TR (FFE T

Ry tertafba ol ==
(A) 29¢% RoraR
(B) 19¢v feoraa
(C) 29¢1 AT

(D) TR (PR T




143. Eutrophication causes decrease in | 143. TCIRFCPICT &0 FCI I

(A) dissolved oxygen () TS SR

(B) dissolved hydrogen (B) Eﬁ!\g@ BBCGICE

(C) dissolved carbon dioxide (C) WATS I TRSHTE

(D) None of the above (D) Toia @AbE |

144. '“Tnh; Cél}‘:;f::lal(}‘;‘;m%‘:zgyai?"dated 144. (SPE UM GHAR ACY TR

e @i =

A) malathion

(4) (A) TR

thyl i t
(B) methyl isocyanate B) R

(C) I SEIRIAG

(D) Toizza c@mive
145. Which one of the following is L

(C) sodium isocyanate

- (D) None of the above

secondary air pollutant? 145. fafERS @@ (Mo 2y @R 2

(A) SO, (A) SO,

(B) CO, (B) CO, '
(C) EaN (C) PAN

(D) None of the above (D) T R

146. Which one of the following
compounds causes fibrosis in

146. fFafRe @MW @ Pyer FREBH

P ca 8 IR 2
(A) DDT (4) DDT
(B) Asbestos (B) Wﬂm
(C) Mercury (C) Irw™

(D) None of the above (D) ®oRm @R W




147.

148.

149,

150.
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The term ‘alpha diversity’ refers to

(A) community and ecosystem
diversity

(B) diversity among plants

(C) species diversity

(D) None of the above

Pollutants released by jet planes are
(A) colloids

(B) smogs

(C) aerosols

(D) None of the above

Acid rain is due to pollution by
(A) carbon monoxide

(B) sulphur_ dioxide

(C) chlorine

(D) None of the above

Sound becomes noise pollution if its
level is above

(A) 80 dB
(B) 120 dB
(C) 150 dB

(D) None of the above
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‘e SRR @S @R
(A) eI ¢ AFSIGF Cafba
(B) Tfrm *=iaa Ty aba
(C) ferm Ty tfbay

(D) Toca bR 7

CSb (o (NP fAofe ol =
(A) @ETREe oy

(B) cgmw

(C) AP

(D) T°aa (FMvE T

e 3Re IR == FaRRe omd w7
&

(A) PR TAHZT
(B) TR TIRWHIZE
(C) @fd=

(D) o bR

3 T AR @b Sfewy 9
O] XA AT 2 2

(A) 80 dB
(B) 120 dB
(C) 150 dB

(D) ToicEa @R W
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3.

9.

10.

11.

12.

13.

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

et e st e orgs -

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

o4ffs o Tew e  vRf Rew e we © (73 Y W% TEals afsce OMR T@aera rew 33 Fie 39T
oI RN e e I T Fare 03 1| 937 Tew oS 1 T (o10H O R AT 9 WA A

The candidates should ensure that the OMR Answer Sheet is not folded. Do not make any stray marks on
the OMR Answer Sheet. Do not write your Roll No. anywhere else except at the specified space on the
OMR Answer Sheet.

RArFIR (FFeSIE OMR Se27afh Sr% Faca= 1 | OMR‘GW (FFSIFT W9 F61 I NI (31 WA 7 | 4w S
@ 793 OMR Taaeia A2 337 wmen 9o == @We SR s =

Handle the Question Booklet and the OMR Answer Sheet with utmost care, as under no circumstances
(except technical defect), another set will be provided.

OMR &A@ 3% 2P°Iad JA2ICA ST ToF S| a5 A0S T3 | (P TRECSE (T8 Fb @ ﬂwﬁbmﬁﬂm OMR &7
S PP N (TSI IR |

The candidates will write the correct Question Booklet Number and the OMR Answer Sheet Number in
the Attendance Sheet.

*RrYIE WLHEH Mb-9 O OMR TEIAT 799 G 27107 797 fgarena forece =3 1

Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile
phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside the
Examination Hall/Room.

AP STCFRD F16 Ga2 FTH! SRCTADE P16 I S0 (FINE QAT I (N FI98, 2427 ' YUTEIS A, (ST, (R FH,
T (PRSI AR i ey o 2w /0% a0 I em TR A |

Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator /Examination Officials.

A1 2o ZATSIGCa0] SEF (%41 A (Frd ooz «Arw - witefis 3¢ R 331 7 aroe R $) wrefit 3¢ ¢

Fh! WECEHIDID P16 (FAITS 4 A |

No candidate, without special permission of the Centre Superintendent or Invigilator, should leave his/her
seat,

CTHR FAIRFCHTCES 1 TfSRTeva- a3 Rem wEfe T “Rwd R o O) TR €W AfRRET F00S /e 1 |

Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first after
taking their seats in the Examination Hall/Room and second at the time of handing over their OMR Answer
Sheet to the Invigilator.

“ArpRifracs TERTeoaa (reul ShS™ MNb Y3314 Trea FACC T3, AYTAR A1) 207 SR WPH AR 7 @32 RErRR

Brfeftabea A9 OMR Teaof a1 (HeuR 9 |

The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and signed the Attendance Sheet twice. Cases where a candidate has not signed
the Attendance Sheet a second time will be deemed not to have handed over the OMR Answer Sheet and
dealt with as an unfair means case.

HCHCEH To-4 T2AH TrHA I G TS TEa07-47 0 Toae@ o (rew TS (Fws M’@ﬂ”ﬁ"fﬂﬂw
fRCE 1 | T (S *APHIA WS M- T2IR T 1 I3 oA R SR OMR TER01@ w91 FA 01 910 I G
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Use of any type of calculating device is prohibited.

(T-(FHE AT AL TI2A FTpefaeel ffds |

The candidates are governed by all rules and regulations of the Board with regard to their conduct in the

Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.

] 29 /3R WY RArERE S Qe i ¢ Fofe sl sl 23 1R wer wfte I @nd e s P
o AR =1

No part of ¢he Question Booklet and the OMR Answer Sheet shall be detached under any circumstances.
@S SIZ 7@ 932 OMR STACA (S HL (BT A1 WM 391 I 1 |

On completion of the test the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hell/Room. The candidates are allowed to take away this Question Booklet with them.
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